01580-1 PARENT

Point # 1 10000.000 10000.000
N 40 31 9 E 453.540

Point # 2 10344.776 10294.666
5 29 39 46 E 484.510

Point # 3 9923.759 10534.447
S 67 56 56 E 147.700

Point # 4 9868.308 10671.343
S 20 14 32 E 453.840

Point #5 9442 498 10828.367
N 53 13 59 E 404.430

Point # 6 9684.574 11152.346
S 0 24 32 E 1082.580

Point # 7 8602.022 11160.072
N 73 1 26 W 395.100

Point # 8 8717.380 10782.188
S 83 4 10 W 967.260

Point # 9 8600.665 9821.996
N 22 58 18 W 367.420

Point # 10 8938.947 9678.600
N 77 56 40 W 143.320

Point # 11 8968.881 9538.441
N 45 41 7 W 370.080

Point # 12 9227.419 9273.644
N 50 14 44 E 331.200

Point # 13 9439.221 9528268
N 8 38 29 E 427.550

Point # 14 9861.917 9592.507
N 71 16 47 E 430.240

Point # 15 10000.002 8999.986



AREA = 2,002,196.65 sf (45.9641 acres)

LENGTH = 6458.77

NORTHING ERROR = +0.002 EASTING ERROR = -0.014
LINEAR ERROR =N 81 53 4% W (.014



01580-1 LOT 34 A

Point# 1 10000.000 10000.C00
N 53 13 5% & 202,220

Point # 2 10121.041 10161.994
5 9 42 5 E 462,280

Point#3 59665.389 10239.993
S 10 11 14 W 460.260

Point # 4 9212.385 10158.589
N 73 1 26 W 149.190

Point#5 §255.944 10015.900
N 14 17 10 E 236.860

Point#6 9485.480 10074.349
N 14 17 10 E 170.140

Point#7 9650.358 10116.333
N 38 4 18 W 212.710

Point#8 9817.812 9985.166
N 4 39 17 E 182.800

Point#9 10000.009 10000.001

AREA = 135,034.42 sf (3.1000 acres)

LENGTH = 2076.46

NORTHING ERROR = +0.009 EASTING ERROR = +0.001
LINEARERROR =N 4 12 41 E 0.009



01580-1LOT 35 A

Point#1 10000.000 10000.000
N 64 51 53 & 348.270

Point # 2 10147.930 10315.291
N 8 10 5 E 384.160

Point # 3 10174.272 10708.570
N 8 10 5 E 30.320

Point# 4 10176.298 10738.822
S 14 17 10 W 236.860

Point #5 9846.763 10680.374
N 73 i 26 W 64.900

Point #6 9965.712 10618.302
5 83 4 10 W 273.810

Point#7 9932.672 10346.483
S 83 4 10 W 334.280

Point # 8 9892.336 10014.655
N 7 44 57 W 108.660

Point # 9 10000.004 10000.004

AREA = 134,734.08 sf (3.0931 acres)

LENGTH = 1791.26

NORTHING £ERROR = +0.004 EASTING ERROR = +0.004
LINEAR ERROR =N 44 45 40 E 0.005



01580-1 LOT 36 A

Point# 1 10000.000 10000.000
N 83 4 10 E 331.210

Point # 2 10035.966 10328.790
N 83 4 10 E 488.560

Point # 3 10098.919 10813.780
S 4 17 10 W 170,140

Point#4 9934.040 10771.796
S 86 10 5 W 30.320

Point#5 9932.014 10741.543
S 86 10 5 W 394.160

Point# 6 9905.672 10348.265
) 64 51 53 W 348.270

Point#7 9757.742 10032.973
N 7 44 57 W 244,500

Point # 8 10000.009 16000.006

AREA = 130,555.11 sf (2.9971 acres)

LENGTH = 2007.16

NORTHING ERRCR = +0.009 EASTING ERROR = +0.006
LINEAR ERROR=N 31 50 20 £ 0011



01580-1 LOT 37 p\

Point#1 10000.000 10000.000
N 83 4 10 E 433,180

Point# 2 10052.270 10430.015
N i 12 27 E 30.300

Point # 3 10082.563 10430.653
N 83 4 10 E 9.560

Point# 4 10083.717 10440.143
S 7 44 57 E 244,500

Point # 5 9841.450 10473.111
S 7 44 57 & 108.660

Point#6 5733.782 10487.762
) 83 4 10 W 65.100

Point#7 9725.927 10423.138
S 83 4 10 W 294.070

Point # 8 9690.442 10131.217
N 22 58 18 W 336.210

Point#9 9999.950 10000.002

AREA = 130,680.27 sf (3.0000 acres)

LENGTH = 1521.58

NORTHING ERROR = -0.010 EASTING ERROR = +0.002
LINEARERROR =5 12 13 8 E 0.010



01580-1L0T 47 Pg

Point#1l 10000.000 1000@0.000
N 37 27 36 173.030

Point # 2 10137.347 101055 538
N 8 10 29 374.240

Point # 3 10507.785 101582 457
N 88 19 47 45,230

Point # 4 10509.103 10203 563
N 88 18 47 63.690

Point #5 10510.960 10267 325
S 21 0 10 489.670

Point # 6 10053.822 10442 830
S 1 12 27 30.300

Point #7 10023.528 10442 197
) 83 4 10 433.180

Point 48 9971.258 10012 177
N 22 58 18 31.220

Point#9 10000.002 9999 q9gy

AREA = 130,681.40 sf (3.0000 acres)

LENGTH = 1640.56

NORTHING ERROR = +0.002

LINEAR ERROR=N 72 11 54 W 0.008

EASTING ERROR = -0.008



01580-1 LOT 50 P\

Point# 1 10000.000 10600.000
N 50 14 44 331.200

Point # 2 10211.802 10254.624
N 8 38 29 427.550

Point #3 10634.498 10318.863
S 40 37 22 241.110

Point# 4 10451.493 10475.844
S 20 10 10 567.050

Point #5 89919.216 10280.327
S 50 52 17 138.950

Point #6 9831.530 10172.539
N 45 41 7 241.150

Point # 7 9999.997 95899.993

AREA = 131,115.63 sf {3.0100 acres)

LENGTH = 1947.01

NORTHING ERROR = -0.603

LINFARERROR =S 68 5 19 W 0.008

EASTING ERROR = -0.007



01580-1LOT 51 JX

Point #1 10000.000 10000.000
N 50 52 17 138.950

Point # 2 10087.686 10107.788
N 20 10 10 173.040

Point#3 10250.115 10167.452
N 20 10 10 338.030

Point #4 10567.416 10284.004
S 40 27 31 27.020

Point #5 10546.857 10301.537
5 40 27 31 1656.220

Point#6 10418.102 10411.343
S 46 27 31 38.110

Point # 7 10389105 10436.073
S 88 19 47 45.230

Point # 8 10387.787 10390.862
S g8 10 29 374.240

Point #9 10017.349 10337.648
) 37 27 36 173.630

Point # 10 9880.002 10232.410
N 77 56 40 143,320

Point#11 9909.936 10052.251
N 45 41 7 128.940

Point# 12 10000.013 9999.993

AREA = 131,109.20 sf {3.0099 acres)

LENGTH = 1749.13

NORTHING ERROR = +0.013

LINEAR ERROR =N 29 43 44 W 0.015

EASTING ERROR = -0.007



01580-1 LOT 55 Jx

Point# 1 10000.000 10000.000
N 71 16 47 430.240

Point # 2 10138.085 10407.479
N 40 31 9 453.540

Point #3 10482.861 10702.145
S 29 3% 46 111.990

Point # 4 10385.547 10757.568
S 34 8 20 375.800

Point#5 10074.505 10546.669
5 56 32 35 467.090

Point#6 9816.993 10156.975
N 40 37 22 241.110

Point#7 9995.999 9998.995

AREA = 130,677.47 sf {2.9999 acres)

LENGTH = 2079.77

NORTHING ERROR = -0.001

LINEAR ERROR =S5 76 27 0 W 0.006

EASTING ERROR = -0.005



01580-1LOT 56 X

Point# 1 10000.000 100060.000
N 48 52 0 4985.350

Point # 2 10325.848 10373.088
N 29 1 57 378.9%90

Point#3 10657.216 10557.014
) 29 39 46 176.150

Point #4 10504.150 10644.190
S 35 47 30 847.720

Point#5 9816.523 10148.409
N 21 0 10 167.470

Point #6 9972.866 10088.386
5 88 18 47 63.650

Point # 7 9571.010 10024.723
N 40 27 31 38.110

Point# 8 10000.007 5999.993

AREA = 130,786.05 sf {3.0024 acres)

LENGTH = 2167.48

NORTHING ERROR = +(.007

LINEAR ERROR =N 43 26 35 W 0.009

EASTING ERROR = -0.007



01580-1 LOT 57 P\

Point#1 10000.000 100600.000
N 31 45 34 971.210

Point # 2 10825.786 10511.200
5 67 56 56 73.850

Point # 3 10798.061 10575.648
S 20 14 32 83.520

Point#4 10715.699 10608.545
5 30 33 14 299.790

Point#5 10461.534 10456.147
5 35 3 11 650.610

Point#6 9928.932 10082.480
S 83 4 10 53.120

Point # 7 9922.522 10029.748
N 21 0 10 82.980

Point # 8 9999.989 10000.007

AREA = 130,682.83 sf (3.0001 acres)

LENGTH = 2215.08

NORTHING ERROR =-0.011

LINEARERROR =S 30 21 54 E 0.013

EASTING ERROR = +0.007



01580-1 LOT 58 )}

Point#1 10000.000 10000.000
N 35 3 11 650.610

Point#2 10532.603 10373.668
N 30 33 14 288.790

Point # 3 107906.767 10526.066
S 20 14 32 141.830

Point#4 10657.697 10575.137
S 24 55 45 229.430

Point #5 10449.643 10478.433
S 24 55 58 457.580

Point# 6 10034.708 10285.538
5 83 4 10 287.640

Point # 7 10000.000 10006.000

AREA = 130,675.07 sf (2.9999 acres)

LENGTH = 2066.88

NORTHING ERROR = +0.000

LINEARERROR =57 47 7 £ 0.000

EASTING ERROR = +0.000



01580-1 LOT 59 A\

Point# 1 10000.000 100060.000
N 24 55 58 457.580

Point# 2 10414.935 10192.895
N 24 55 45 225.430

Point#3 10622.989 10289.599
S 20 14 32 228.500

Point # 4 10408.601 10368.658
S 4 38 17 182.800

Point #5 10226.404 10353.823
5 38 4 18 212.710

Point#6 10058.950 10484.5990
S 83 4 10 488.560

Point#7 9999.998 10000.000

AREA = 130,693.21 sf {3.0003 acres)

LENGTH = 1799.58

NORTHING ERROR = -0.002

LINEARERROR=S 4 2 37 E 0.002

EASTING ERROR = +0.000



01580-1 LOT 60 A

Point#1 10000.000 10000.000
N 53 13 59 202.220

Point # 2 10121.041 10161.994
S 0 24 32 1082.580

Point #3 9038.489 10169.719
N 73 1 26 181.010

Point #4 9051.339 9996.597
N 0 11 14 460.260

Point#5 9544.343 10078.001
N 9 42 50 462.280

Point#6 9999.985 10000.001

AREA = 130,682.35 sf (3.0001 acres)

LENGTH = 2388.35

NORTHING £ERROR = -0.005

LINEAR ERROR =S5 10 43 11 E 0.005

EASTING ERROR = +0.001



01580-1LOT 62 ;A

Point#1 10000.000 10000.000
N 35 47 30 847.720

Point # 2 10687.627 10455.780
5 28 40 2 66,100

Point # 3 10630.192 10528.497
5 67 56 56 73.850

Point # 4 10602.466 10596.945
S 31 45 34 971.210

Point#5 9776.680 10085.745
N 21 0 10 239.230

Point # 6 16000.016 10000.002

AREA = 146,863.55 sf {3,3715 acres)

LENGTH=2198.11

NORTHING ERROR = +0.016

LINEAR ERROR=N 5 32 30 £ 0.016

EASTING ERROR = +0.002



01580-1 LOT 63 ]\

Point # 1 10000.000 10000.000
N 56 32 35 F 467.090

Point # 2 10257.511 10389.693
N 34 8 20 E 375.800

Point # 3 10568.553 10600.593
S 29 39 46 E 130.260

Point # 4 10455.364 10665.058
5 29 1 57 W 378.990

Point# 5 10123.996 10481.132
5 48 52 0 W 495.350

Point # 6 9798.148 10108.043
N 40 27 31 W 169.220

Point # 7 9926.903 9998.237
N 40 27 31 W 27.020

Point # 8 9947.462 9980.704
N 20 10 10 E 55,980

Point # 9 10000.009 10000.005

AREA = 147,220.96 sf {3.3797 acres)

LENGTH = 2099.71

NORTHING ERROR = +0.009 EASTING ERROR = +0.005
{INEARERROR=N 30 38 10 £ 0.011



